BTOW pedRes Z=ADC-DBped, saturated @ |3

120

o
o

oe]
o

y: phi binzsecto

o)}
o

40

20

% 5 10 15 20 25 30 35 40
x: etaBin ,[-1,+1]

ETOW

[o2]
o
[%8)

y: phi bin ~sector

al
o
N

40

=Y

30

o

20

10

0
0 2 4 6 8 10 12
x: 12 - Endcap etaBin ,[+1,+2]



[BTOW pedRes crate=0x01 (dec=1) | [BTOW pedRes crate=0x02 (dec=2) |
10

©

ADC - DbPed
ADC - DbPed

)

-1 PP R TR T R i i P
?60 180 200 220 240 260 280 300 320
x: chan + 160*crate x: chan + 160*crate

BTOW pedRes crate=0x03 (dec=3) | BTOW pedRes crate=0x04 (dec=4) |
10

ADC - DbPed
ADC - DbPed

x: chan + 160*crate x: chan + 160*crate

ADC - DbPed
ADC - DbPed

M R = i I i _i i il
800 1QCO 820 840 920 940 960
x: chan + 160*crate x: chan + 160*crate

K
s
(=]

ol

o2

(=]

o

fes]

Ol

~

Ol . .
(=]

~

N

(=]

N

IN

(=]

~

o

(=]

~
.
O



[BTOW pedRes crate=0x07 (dec=7) |

10

ADC - DbPed

L
112
x: chan + 160*crate

10

ADC - DbPed

@
pr
2
o
o
Q
T
[v]
n
2}
=3
[¢]
]I}
o
X
o
o
a
o
[¢]
11
o
=

x: chan + 160*crate

ADC - DbPed

P -
1720

-
1740
x: chan + 160*crate

[BTOW pedRes crate=0x08 (dec=8) |

10

ADC - DbPed

x: chan + 160*crate

10

ADC - DbPed

_]10:. M B
440 1460 1480

[BTOW pedRes crate=0x0c (dec=12) |

P I IR PP
1500 1520 1540 1560 1580 1600

x: chan + 160*crate

ADC - DbPed

7Y —ENE R
65 780 800

M BT R PP BT SRR
1820 1840 1880 1900 1920
x: chan + 160*crate



[BTOW pedRes crate=0x0d (dec=13) |

10

ADC - DbPed

JET0Y s SN ISR ST ST S TS T T TR S i
J1%20 1940 1960 1980 2000 2020 2040 2060 2080
x: chan + 160*crate

BTOW pedRes crate=0x0f (dec=15) |

ADC - DbPed

N
2380 2400
x: chan + 160*crate

ADC - DbPed

x: chan + 160*crate

[BTOW pedRes crate=0x0e (dec=14) |

ADC - DbPed

10

P
224
x: chan + 160*crate

BTOW pedRes

ADC - DbPed

10

R P B R ST R P P |
129100 2420 2440 2460 2480 2500 2520 2540 2560
x: chan + 160*crate

ADC - DbPed

R PP B R ST ST RS T R |
%20 2740 2760 2780 2800 2820 2840 2860 2880
x: chan + 160*crate



[BTOW pedRes crate=0x13 (dec=19) |
10

ADC - DbPed

[BTOW pedRes crate=0x15 (dec=21) |

L
304
x: chan + 160*crate

T

[

[N

%

a

9]

a

<
P I I R R R S S | |
3220 3240 3260 3280 3300 3320 3340 3360

x: chan + 160*crate

[ BTOW pedRes crate=0x17 (dec=23) |

- 10

j53

o

=3

a

%)

a

<

3660 3680
x: chan + 160*crate

[BTOW pedRes crate=0x14 (dec=20) |

10

ADC - DbPed

x: chan + 160*crate

10

ADC - DbPed

———

3500 3520
x: chan + 160*crate

ADC - DbPed

Y =N B I
Heo 3700 ETZ)

P
3740

P -
3760

PR
3780

P -
3800

PR PR |
3820 3840
x: chan + 160*crate



[BTOW pedRes crate=0x19 (dec=25) |
10

ADC - DbPed

.

x: chan + 160*crate

ADC - DbPed

[BTOW pedRes crate=0x1d (dec=29) |

7320
x: chan + 160*crate

ADC - DbPed

P R
4620 464
x: chan + 160*crate

[BTOW pedRes crate=0x1a (dec=26) |

10

ADC - DbPed

@
pr
g
el
o
o
T
[1]
(2]
(2]
Q
28
[}
11
o
x
=
(2]
a
o
[}
Il
N
&

x: chan + 160*crate

10

ADC - DbPed

-
4480
x: chan + 160*crate

ADC - DbPed

P IR R
4760 4780 4800
x: chan + 160*crate



m
H
o
2

kel
(o]
o
o
13
12
o
oy
o
o

ADC - DbPed

10

m
o
(e}
H

o
®

ADC - DbPed

x: chan + 128*crate

ETOW pedRes crate:

ADC - DbPed

380
x: chan + 128*crate

10

x: chan + 128*crate

ETOW pedRes crate=2

ADC - DbPed

ETOW pedRes crate=4

ADC - DbPed

10

x: chan + 128*crate

10

x: chan + 128*crate

ETOW pedRes crate=6

ADC - DbPed

10
8

i i L
720 740 760
x: chan + 128*crate



| total event counter | Entries

y: events

2098

0.6673

0.5008

1864

1800 [—--rrrrrrir s e Feremeennenanens RRRREELEEEEEEEED SRR R LR EREEEE R REREEEEECEEEEEREE ERRERREED Mean 7.579

: : : : : : : : RMS 0.4528
1600 - e R S R
1400 e e E .........................................................................................
1200 e E .........................................................................................
JOO00 [ rmmmm s E -----------------------------------------------------------------------------------------
T 1 S P E .........................................................................................
0 S P E .........................................................................................
400 - E .........................................................................................
200 b— - E -----------------------------------------------------------------------------------------

O0 — 56 — I1(I)O — I15|O — I20|O — I25|OI — I3(;0 — I35|0 — I4OIO gt




